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@® 100° @ 105° ® 110° @ 115° ®)120°

360° — (130° + 110°) = 120°
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2x —42° = x + 32°
coLx = T4°
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D 115° @ 120° @125° @ 130° ® 135°

80° + 20° + /DBC + 25° + /DCB = 180° o] B2
(DBC + /DCB = 55°
SoLx = 180° — 55° = 125°
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@ 50° @ 45° @ 40° @35° ® 30°

70° + 2/a = 24b

(b= /x+ La

70° + 22a = 2(Lx + La) = 2/x+ 22a
2/x = 70°

Lo Lx = 35°
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40°

® 1000 @120 @150 @ 160° O 165°

2/ABC = /DAC, /DCE = 3/ABC
/x = 3 x40° = 120°




9.

D sx=7T5° 1y =80° @u = 80°, /y = 85°
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Lx = 25° + 55° = 80°
Ly = 35° 4 50° = 85°
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@® 180° @360° ® 400° @ 540° ® 7120°

AH2rE o] Wzhe] 92 360° ©lHt.
Le+Lf = Lg+ th O|BE T3 Zhe] A7+ Az o] Wizhe]
3719 3 360° < 2,
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(A =40° D W), zx + 2y & A7 E 75 }@?

D 120° @ 150° @ 180° @210°

® 240°

B

AABC 9|4 /B + +C = 180° — 40° = 140°
1
AQBC A zx = /B + 510

1
APBC 9|4 2y = §zB +/C

X+ Ly = g(zB + £C) = 210°
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@® 30° @ 50° @70° @ 90° ® 110°

~&B

97+ o] Yzhe] & 180° x (5 — 2) = 540° O] L& 40° +
120° + 100° + 110° + 60° + (2@ 9] &= Wz}) = 540° o]t}
wrabA] (A2 o] T W2} = 540° - 40° — 120° — 100° — 110° —
60° = 110° o]t}

W59 A7t RtE 1estd (49 & W) + 2x = 180°
o|B &, sx=180°-110° = 70° o|t}.
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@® 120° @ 150° ® 180° @®)200° ® 220°

A7k 7 9] Wzl grol A Azhg o) o)zt

180° x 7 — 360° x 2 = 540° 0| B &
la+ /b + 95° + 75° 4+ 80° + Zc¢ + 90° = 540° ©]t}.
w2t A za + b+ Lc = 200° ]t}
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A D

@® 28° @)30° ® 32° @ 35° ® 40°

AAED = A7 o|E & /EAD = 60° °|t}. —» /EAB = 30°
F3H AABE oA AB = AE ©]E& /ABE = %(180" -30°) =

75° o]tt,
AABD = AB = AD ¢l ZZto]5HArZtgo] B g /ABD =

1
5(180° = 90°) = 45° o|tt.
w2t /DBE = /ABE — /ABD = 75° — 45° = 30° ©]|t}.




